CTET MS L1 English L2 Hindi P2

Topic:- CDP_P2_CTET

1)
In which period do children establish autonomy from the family and define personal values and
goals carving their own identity ?

(1) Early childhood

(2) Middle childhood
(3) Late childhood
(

4) Adolescence
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[Question ID = 1][Question Description = S2_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)
Assertion (A) : In the context of physical development it is important to look at a ‘range’ rather
than specific age to understand a child’s development.

Reason (R) : There are considerable individual differences in children’s growth and
development.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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[Question ID = 2][Question Description = S2_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3 Which one of the following is not the principle of development ?
(1) Development is a sequential process.
(2) Development has no specific direction.
(3) Development is somewhat predictable.
(4)

4) Development is a result of interplay of heredity and environmental factors.
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[Question ID = 3][Question Description = S2_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)

According to Jean Piaget, It is in stage that the children are able to overcome the
limitations of centration and demonstrate logical thought.

(1) sensori - motor

(2) pre - operational
(3) concrete operational
(4) formal operational
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[Question ID = 4][Question Description = S2_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)

Assertion (A) : Ramesh, a five year old reasons that the water poured from a broader glass to a
taller glass has become more in quantity.

Reason (R) : Children in concrete operational stage cannot solve problems in a systematic and
logical manner.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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[Question ID = 5][Question Description = S2_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)



The stage of ‘Instrumental purpose orientation’ in Kohlberg's theory is characterised by :
(1) satisfying personal needs

2 viewing rules as fixed and absolute

(2)
(3) maintaining the approval of others
(4)

abstract universal principles that are valid for all humanity
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[Question ID = 6][Question Description = S2_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)

The term used by Lev Vygotsky to describe the process whereby two participants who begin a task
with different understandings arrive at a shared understanding is .

(1) Zone of proximal development

(2) Intersubjectivity
(3) Conditioning
(4) Discovery learning
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[Question ID = 7][Question Description = S2_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8 In Lev Vygotsky’s theory, language :

(1) plays a significant role in cognitive development of children.

(2) hinders children’s cognitive abilities.

(3) is highly influential in regulating children’s emotional development.
(4) does not play any role in development of children.
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[Question ID = 8][Question Description = S2_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9)

In which type of classroom the teacher adopts pedagogy and assessment method to cater to needs
of individual learners ?

(1) Behaviouristic
(2) Teacher Centric
(3) Progressive

(4) Exam-centric
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[Question ID = 9][Question Description = S2_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]
10)
Assertion (A) : The intelligence test is not the only measure to identify a gifted child.
Reason (R) : Each gifted child presents different strengths, personalities, and characteristics.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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2. 2 [option D - 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

Young children often talk to themselves while play. As per Lev Vygotsky this is an example of
and should be by the teacher.

Private speech; discouraged

=

Private speech; encouraged
Egocentric speech; discouraged
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Egocentic speech; encouraged
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[Question ID = 11][Question Description = S2_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Association of colour ‘pink” with girls and ‘blue” with boys is an example of :
(1) Gender equity

(2) Gender equality
(3) Gender stereotyping
(4) Gender empowerment
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[Question ID = 12][Question Description = S2_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)
Assertion (A) : Teachers should create a classroom ethos in which they convey their belief in
every individual child’s ability to learn.

Reason (R) : Teachers’ beliefs about children’s abilities and their expectations from children
influence learning,

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 13][Question Description = S2_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]
4 An effective method to implement continous and comprehensive evaluation is :
(1) to access children periodically using a variety of strategies.
(2) to conduct assessment at the.begirming and at the end of the year.
(3) through objective type written tests given to all children.
(4)

through use of standardized tests for assessment.



7 ¥ | gaq 9 999 Gediche i AR T S AHTE] Gl S 518 ?

(1)
(2)
(3)

(4)

Tafsr=1 a¥ieni =1 TAFT d BT =1 o1 FHI-T9H T Hedleh |
e YT 9 3d H qedihT H |

[t Taanfefi =1 goaie i fafed wien St w1

oo o foTC AR iehd qRansdi =1 3% & |

[Question ID = 14][Question Description = S2_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15 Which of the following questions promotes critical thinking rather than mere recall ?

(1) In which year was telephone invented ?
2

How many states are there in India ?

)
3)  Who was the first prime minister of India ?
4)

What are the various ways in which gender stereotypes can be challenged ?
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[Question ID = 15][Question Description = S2_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)

Which statement is correct about an inclusive classroom ?

(1)

The participation of girls and other disadvantaged groups in the school curriculum and
other activities is prohibited.

Inclusion creates obstacles in the education of ‘other’ children, which affects the quality of
education.

During inclusion need of all children are addressed irrespective of difference in their abilities
and backgrounds.

Inclusion only pertains to children with disabilities since only they benefit from it.
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[Question ID = 16][Question Description = S2_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)

Teachers can ensure that students belonging to disadvantaged groups are successfully ‘included’

by :

(1)
(2)
(3)
(4)

creating a seperate “section” for them.

making it compulsory for them to take tuitions at home.
completely disregarding their social and cultural contexts.
inculcating a sense of belonging and boosting their confidence.
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[Question ID = 17][Question Description = S2_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



Which of the following are effective accomodations in the classroom environment as per the needs
of students with low vision ?

(i)  provide magnifying glass with light.

i) supplement blackboard work with oral explanations.

-
PN L

(
(i) wuse a lot of visual presentations.
(

iv) give extra time to complete work.

(1) (i), (i)
(2) (1) @)
(3) (i), (i), (i)
(4) () (i), (iv)
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(1) (i), (iii)
(2) (1), (W)
(3) (i), @) (i)
(4) (i), (i), (iv)
[Question ID = 18][Question Description = S2_CDP_Q018]

1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19 Teachers can encourage children to think creatively by :
(1) Asking them to think of different ways to solve a problem

(2) Asking them to memorize answers
(3) Asking recall based questions
(4) Giving multiple choice questions
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[Question ID = 19][Question Description = S2_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20)

Which of the following pedagogies would be a hinderance to students learning in an inclusive
classroom ?

(1) Collaborative learning

(2) Ethos of care and empathy
(3) Standardized instruction
(4) Reasonable accomodation
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[Question ID = 20][Question Description = S2_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Effective learning takes place when :

(1) Individual differences are ignored and dismissed in the class.
(2) Concepts are taught in an abstract and decontextualized way.
(3) Classroom environment is centered around fear and stress.
(4)

The role of emotions in learning is acknowledged and addressed.
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[Question ID = 21][Question Description = S2_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22)



When teachers promote KWL approach - encouraging students to think about what they already
know, what they want to know and identify what they have learnt at the end of the topic, what
abilities are they encouraging ?

(1) Metacognition

(2) Memorization and recall
(3) Imitation
(4) Conditioning
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[Question ID = 22][Question Description = S2_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Which of the following is a teacher - centred method ?
(1) Collaborative learning

(2) Lecturing

(3) Concept mapping

(4)

Conducting experiments
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(4) AT WA

[Question ID = 23][Question Description = S2_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]



24) Which of the following hinders problem - solving ?
(1) Thinking aloud about the various steps involved in problem solving
(2) Thinking of worked examples
(3) Getting stuck at one way of representing the problem
(4)

Brainstorming and discussion with peers
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[Question ID = 24][Question Description = S2_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

23) Knowledge or awareness of self as knower is referred to as :
(1) Adaptation

2 Metacogniﬁon

(2)
(3) Regulation
(4) Imitation

(1) Agger

(2) AfErEH

(3) T

(4) SR
[Question ID = 25][Question Description = S2_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]
3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

2

“i")o enable students to make conceptual changes in their thinking a teacher should :
(1) Offer an explanation in a lecture mode.

(2) Have discussions with the students and offer examples and non-examples.
(3) Offer rewards for children to change their thinking.
(4)

Discourage children to think on their own and ask them to just listen to her and follow that.
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[Question ID = 26][Question Description = S2_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

ZIZ/)Iastery - oriented learners are charcterised by fear of failure and view of
ability.

(1) Low; incremental

(2) Low; entity

(3) High; incremental

(4) High; entity
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(2) = fer
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(4) w=; R

[Question ID = 27][Question Description = S2_CDP_Q027]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28)



A teacher organises various types of cultural programmes showing different traditions and festivals

of India in the school. The purpose behind organising these programs should be :
(i) Promoting collaborative learning

(i) Developing respect for diversity

(ii) Promoting Creativity
(

iv) Promoting Stereotypes

(1) (), (), (i)
(2) (i), (i), (iv)
(3) (i), (i), (iv)
(4) (i), (iv), ()
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=1 gefeld foran Sm €1 HE%H ST % 5999 e =ifen ?

(i) FEdrTeTE STfURTH W agre S
(i) ~Tafaermn =1 ==
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(1) (i), (i), (ii)
(2) (i), (iid), (iv)
(3) (i), (i), (iv)
(4) (i), (iv), (i)

[Question ID = 28][Question Description = S2_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) A teacher should have the qualities of :
(i) Empathy

i Care

L

(
(i) Genuineness
(

iv) Intolerance

(1) (B), (i)

(2) (i) (i)

(3) (1), (i), (i)

(4) (@), (i), (iii), (iv)



e foreres o fr=fafas 7o e =nfee
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(i) <@

(iii)  grHTfOTERT

(iv) STEESI

(1) @), (1)

(2) (), (iii)

(3) (i), (1), (iii)

(4) (i), (i), (i), (@v)

[Question ID = 29][Question Description = S2_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30 An effective way to keep children intrinsically motivated is by :
(1) Offering rewards

(2) Giving punishments
(3) Creating a learning environment that fosters a sense of belonging and autonomy.
(4) Encouraging total compliance and passive reception of information
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[Question ID = 30][Question Description = S2_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

——

Topic:- MATH_P2_CTET

D Which of the following is true ?
(1) 1@ yb= yab
(2) yax yb=ya+b
(3) x*xyb=(xy)e

a
@) %+x’=¢P



e dasR T aa g ?
(1) aAxaP=yob

(2) xixxb=yath

(3) x®xyP=(xy)P

d

4 x*+ xP=xb

[Question ID = 31][Question Description = S2_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]
2) Value of (2.05+68.5—6.321+8.18—-1.5) is :

(1) 0.52

(2) 61.13
(3) 70.909
4) 71.911

(2.05 +68.5—6.321 +8.18 —1.5) & HH € :
(1) 0.52

2) 61.13

(3) 70.909

4) 71.911

[Question ID = 32][Question Description = S2_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]
3 Which of the following statements is not true ?
(1) HCF and LCM of two numbers x and y can be respectively 28 and 84
(2) HCF and LCM of two numbers x and y can be respectively 1 and 105
(3) HCF and LCM of two numbers x and y can be respectively 150 and 900
(4)

4 HCF and LCM of two numbers x and y can be respectively 16 and 196

fefafer @ FF T FA T & € ?

) & gEme x #R y % HCF 3R LCM %98 28 3R 84 & Hahd 2 |
2) @ Hemsi x 3R y % HCF 3R LCM %99 1 iR 105 & e ¥

) & "emsi x 31 y % HCF & LCM %99 150 3R 900 & Hehd # |
(4) @ gemsif x R y F HCF 3k LCM %99 16 3R 196 & Hehd # |

[Question ID = 33][Question Description = S2_Maths Content/Pedagogy_QO033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]



3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) What is the sum of the digits of the least number that must be added to 12500 to get a
perfect square ?

(1) 5
2) 6
@) 7
4) 8

uf =R W@ UTE T o fA 12500 F S S aTel gaad S & S &1 A T
1) 5
2) 6
3) 7
(4) 8
[Question ID = 34][Question Description = S2_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]

3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5)
Which of the following statements is true ?

1 A number is irrational if it can be expressed in the form T, where p and q are
P q P q

integers, q+0

(2) Sum of any two irrational numbers is sometimes a rational number and sometimes
an irrational number

(3) Product of any two irrational numbers is always an irrational number
(4) The square of an irrational number is always a rational number

fefafed i AFF T FA I 8 ?

(1) I Hem awﬁﬁa%qﬁgﬁgﬁiwﬁ%@ﬂﬂ%, SET p @ q IO €, q#0 1

@) Tl < srufiim Semsdt @ A wit ufiis o el s e A g
3) Tl & srafiedr demedt @1 vm Wi v sraf Hen A 2
(4) T AUREF T 1 99 Hed UH uHT Hew A

[Question ID = 35][Question Description = S2_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]



® What is the coefficient of x when 8(x*+2x%—15x2) is divided by 4x(x +5) ?
(1) 1

4) -6

[Question ID = 36][Question Description = S2_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

) A number when increased by 9 becomes 3 times half of the number. What is the

number ?
() 1.2
(2) 14
(3) 16
(4) 18

T T H 9 FI gig H W T 59 WS & oY H 3 T B Sl § | 9 e w2

1) 12
@) 14
3) 16
4) 18

[Question ID = 37][Question Description = S2_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8)
A sum of money doubles itself in 8 years at a certain rate of simple interest. In how many
years will it become four times of itself at the same rate of simple interest ?

(1) 16
2) 20
(3) 24
(4) 32



TS UMY IEIRo] =A7et shi Ferell &2 9x 8 o B o7 &A1Y i T B ! & | SE WIMRO] <A1 shi X
T e ol o T & AR T # s ?

(1) 16
2 20
3) 24
4) 32
[Question ID = 38][Question Description = S2_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]

2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9)

Renu was born when her mother was 30 years old. What is the present age (in years) of
Renu if five years ago from now, her mother’s age was four times that of Renu ?

1) 15

2) 16
3) 18
(4) 20

59 ¥ 1 g8, 79 3Tt A 30 99 & off | 3 ¥ 5 a6 vgw, AT w6 H A IR g
R T[T off, @ ¥ T FdHH oy (auf H) FnE?

1) 15

2) 16

3) 18

4) 20
[Question ID = 39][Question Description = S2_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]

2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10)

1
A person takes 35 hours to cover a distance of 140 km, If he decreased his speed by

5 km/h, then what is the increase in time taken by him (in minutes) to cover the same
distance ?

(1) 18

@) 20
3) 30
4) 45



T AfH I 140 km 1 g 79 & S%H%Wﬁ%mﬁ'aaa?ﬁma 5 km/h %H X A1 8,
df SHT g Wl 7w W W Al w1 fraT w9 (e #) sy e ?

(1) 18
@) 20
3) 30
(4) 45

[Question ID = 40][Question Description = S2_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

) Which of the following angles cannot be drawn, using scale and compass only ?
(1) 15°

(2

(3

(4

T e ™
i
515 [ ]
wl
o

e § & 1 91 10 Fad Shel SR FEE H WE w0 gU T Gl S gehdl © 2
(1) 15°
2) 40°
(3) 105°

(4) 135°
[Question ID = 41][Question Description = S2_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)
If the measure of an exterior angle of a regular polygon is 45°, then the number of its sides
1S :

(1) 4

2) 8

3) 9

(4) 10

Tfg U T FgYS & Uk &l HIV HI °19 45° §, O STRT AT i G&AT B
(1) 4

2 8

3) 9

4) 10

[Question ID = 42][Question Description = S2_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]



3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)
AB and CD are two line segments which intersect at point O, If ZOAC=60°, ZOCA =70°
and ZOBD =90°, then ZODB is :

(1) 20°
2) 30°
(3) 40°
(4)  60°

g1 {@mEvE AB 91 CD féig O T wfiesg %3 § 13 LOAC=60°, ZOCA = 70° 3R ZOBD = 90°
8, @ ZODB @ :

(1) 20°
@) 30°
(3) 40°
4)  60°

[Question ID = 43][Question Description = S2_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]

2. 2 [Option ID = 170]

3. 3 [Option ID = 171]

4. 4 [Option ID = 172]

14)

F, Eand V are respectively the number of faces, edges and vertices of a polyhedron. Then,
which of the following is true ?

(1) F+E=V+2
2) F+E-V=2
3) F+V-E=2
4) E+V=F+2

F, E 3RV w09 fordt agwerst & woel, frnl o) ol ) et &1 e, e & & 39 @
FUT TA 772

(1) F+E=V+2

) F+E-V=2

3) F+V-E=2

4) E+V=F+2

[Question ID = 44][Question Description = S2_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) In AABC, O is the mid-point of BC and OA =0B. If ZOBA =54°, then ZOCA is :

(1) 18°
@) 30°
(3) 36°
4) 72°

AABC ¥ foig O, BC &1 ea-fag & 991 OA=0B ¥ 13f§ ZOBA =54°%, Tl ZOCA % :

(1) 18°
(2) 30°
(3) 36°
4) 72°

[Question ID = 45][Question Description = S2_Maths Content/Pedagogy_Q045]

1. 1 [Option ID = 177]

2. 2 [Option ID = 178]

3. 3 [Option ID = 179]

4. 4 [Option ID = 180]

1) A rhombus has diagonals of lengths 10 cm and 24 cm. What is its perimeter (in cm) ?
(1) 34

2) 52

3) 60

(4) 68

T g & fawuil # FEEE 10 om 997124 om ¥ | $HH 9RATT (cm H) fomen 2w e
(1) 34
2) 52
(3) 60
(4) 68
[Question ID = 46][Question Description = S2_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]

3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)
A solid metallic cylindrical rod of radius 1.2 cm and length 22 cm is melted and recasted
as a cylindrical wire of radius 2 mm. What is the length of the wire (in cm) ?

1) 79.2
2) 792
(3) 4752
(4) 79200



5591 1.2 om 91 @918 22 cm i HTg, 1 T 319 SR 88 il feereit 2 mm 551 1w

SR T S T § | T T=E (om H) 20 €1t 2
(1) 79.2

2 792

(3) 4752

(4) 79200

[Question ID = 47][Question Description = S2_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)

Five cubical wooden blocks having side 10 ¢m each are joined end to end in a row.

What is the cost (in ) of painting the surface of the solid so formed at the rate of
10 paise per em? ?

1) 110
(2) 220
(3) 360
(4) 700

Jede 10 cm Sl 91 The] o 5 FARRR selish] ol (9 ¥ T foeery s ufe | Sier 7411 39
YR 9T S i g8 1 10 T8 90 cm? &1 & 8§ 9= & &1 @49 (% H) 31 2 ?
(1) 110

2) 220
(3) 360
(4) 700

[Question ID = 48][Question Description = S2_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

19)
If the mean of 10, 4, 5, 3, 2, 6, 7, 3 is m and the mean of 2, 5, 3, 11, m, 10 is p, then what
is the value of (m +p) ?

(1) 8.7
2 11
3) 12.5
4) 13



afg 10,4,5,3,2,6,7,3 % W m & X2, 5,3, 11, m, 10 A p &, d (m+p) F 41 &0
BA?

(1) 8.7
@) 11
3) 125
4) 13

[Question ID = 49][Question Description = S2_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)

Numbers from 25 to 50 are written on different slips (one number on one slip) and keptin
a box. One slip is chosen from the box at random. What is the probability of not getting a
prime number ?

9
1 13
10
2 13
18
®) 35
19
@) 5

fafir= of¥di W 25 | 50 7 =i Her fordt § (U u= W U den) R 3% U fes
fem e g1 argsem, e § 9 U uHl et 1 39 Usl W UE A9YRE GEW T AW
y1ferehar s I ?

9
0 33
10
2 13
18
G 5
19
@ 35

[Question ID = 50][Question Description = S2_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

21)



Which concept can be most appropriately explained by an example of the most easily
available size of a particular garment in garment shops or garment factories ?

(1)
)

)
)

(S0 I (5]

(
(
(4

Mode

Median

Standard Deviation
Mean

I Y STIEON 1 FHIST il gHFl a1 Biaedl (FREmH) J FFET drems & sfq S 9 Suers
Y (UES) B o ITE 5N Yo 39 Y Y YU S Yl € 7

(1)
(2)
(3)
(4)

Hgelsh (HIE)
e

A% fagem
e

[Question ID = 51][Question Description = S2_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

22)

Usually a teacher faces problem while teaching word problems. Many a times students
solve the question when the teacher tells the operation to be used. What is the possible
reason for such problem ?

(1)
(2)
(3)
(4)

Students do not like word problems and seek excuses.
Students lack comprehension skill
Students are ]azy and do not want to read the problem

Students have phobia towards word problems

SO Farel 1 e e g wE: et U geen o 9 o ¥ g aR fanef wee e
FL o & o9 foeTs 3% A &1 S arel Wik Teend €1 TS Teen w1 R €2

(1)
(2)
(3)
(4)

ferenfei=i & afam Feme =1 e

ferenelf syrerdt € 2R w99 = UeA el =ed
fernfef=i =1 o ware 9§ 99§

[Question ID = 52][Question Description = S2_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

23)



Given below are two statements marked as Assertion (A) and Reason (R).
Assertion (A) : Mathematics curriculum should be ambitious.

Reason (R) : It seeks to realize the aim to develop the child’s inner resources to think
and reason mathematically.

(1) Both (A) and (R) are true and (R) is the correct reason of (A)

(2) Both (A) and (R) are true but (R) is not the correct reason of (A)
(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

= @ T fou u E i arfenem (A) iR sror (R) 3 Tafea fan e 2

AT (A) @ TUE Yred=A] HacEkial a1 =faw |

WROT(R) : I 9= & sAiafieh gamemEt &1 1forda &9 | foaq 1 3R @ o7 % farm &
YT # 9o F F e FA B

(1) (A) 3R (R) S 57 § iR (A) F1 W F (R) B

(2) (A) 3R (R) 31 H& B fhq (A) 1 W8 FR0 (R) T B

(3) (A) T g fhg (R) 319 B

4) (A) o5 § fog (R) 9 €1

[Question ID = 53][Question Description = S2_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

24 “All right-angles are equal”. The statement is a/an :

—

)  Theorem

) Identity

3) Conjecture
4)  Axiom

A~ S S e~
2

“q9ff AR SRER B4 © 11 A8 WU © U -
(1) W=

(2) HeHfHH

(3) T

(4) s ey

[Question ID = 54][Question Description = S2_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

25)



A most appropriate pedagogical approach to introduce algebraic identity, (a +b)?
=a%+ b2+ 2ab in class VIII would be to :

D)
2
3)

)

(
(
(
(4

Let students memorize the identity
Let students solve (a+b) x (a +b) and arrive at the identity

Let students solve questions based on the identity
Let students copy the examples solved by the teacher on the blackboard

T VI H sisia gaafqem (a +b)2 =a2 + b2+ 2ab 1 9= T 1 Haifaes SugE femmemet
YR BT -

(1)
(2)
(3)
(4)

faenfef=it =1 wegfms =1 a” w1 3

faenfe=i &1 (a+b) x (a+b) B F 3 X FAHH W GG &
femnfeli =1 gdafoe w snufE ueHi = d F §

T W ek g g fRy T Sere = famnefiEi T w9

[Question ID = 55][Question Description = S2_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

26)

The scope for experimentation and exploration in a mathematics classroom can be least
enhanced through :

(1) Digital learning games

(2) Mathematics laboratory

(3) Mathematics dictionary

(4) Educational board games

ToTd 1 e H TR F AR ST % HAER oH H H g9 FH gfE o HIETH §
&1 S HFA © -

(1) amfers (fefsea) afrm g

(2) IO G

(3) iU v T

(4) Torm-deE dre T

[Question ID = 56][Question Description = S2_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)



Janet is an elementary school mathematics teacher, while introducing the pentagonal
shapes to her students, she uses the examples of other shapes such as trapezium, rhombus
and open-figures along with the pentagonal shapes.

The pedagogy used by Janet would most likely :

(1) create confusion among her students regarding a pentagonal shape
(2) address the alternate conceptions regarding a pentagonal shape

(3) give rise to misconceptions among her learners

(4) help her learners to learn the names of various geometrical shapes

S mafte farmer =it wftra w6t frferer €1 sl sEnedl @1 deeia srsfeE = oftee &9 g
IGA eI SRl 6 He-E S SRl S wHeds, weegs o gell anpfl %
Fere i feu |

SE Za T e yorel Hved

(1) d=ehoig A o Hed § 35 fornfeli § ransq 3e0=1 shaf

(2) H=ERIiE AR % He H Sehfeush FAAHRONS] i Halt ol

(3) 39 foenferi # it so= won

(4) Tafa= sfadrg swRfal = =19 =g = o foenfer s gemd s

[Question ID = 57][Question Description = S2_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)

A teacher tells the students that it requires 2 cups of water, 3/4'" cup of milk, 2 teaspoons
each of sugar and tea powder to make two cups of tea. Then he asks students how many
cups of milk is required to make 4 cups of tea. This example illustrates the concept of :

(1) Ratio

(2) Multiplication
(3) Division
(4) Proportionality

e foreres forenfeldi 1 sraman @ o <1 9 = o9m % faw 2 9 9, d9-9ieE (3/4) F9 34, |
BIR = =1 3 = F weel (o) F AEvEEd w6l 81 99 8 i € gua § fFEn

(4) Y 97 s & for fraw %9 gy =ifen? =e Sowrwor wefvla +var @ I TSRO |
(1) &g

2) T

3) favsE

(4) EHEEIAR

[Question ID = 58][Question Description = S2_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]



4. 4 [Option ID = 232]

29)

Which among the following is NOT a characteristics of portfolio as an assessment tool in
mathematics ?

(1) Itis a part of formative assessment

(2) It reflects student’'s work over a period of time

(3) It provides opportunities for reflective self-assessment
(

4) It is group-centred and quantitatively measures the learning outcomes

Freafafag § | % 71 1o 8§ seher & T W99 & §9 § UERTEa H Siee T 8 2
(1) &8 T Jedish ol T Y7 §
) = faenedt =1 u & T wE safy § e T wE gefiia wRa ®
(3) e foameie W-gedid & TR USH HI §
@) T IHE-lEa € i st freml 1 AT WO e &
1[Q:.1?;tit¢?n |||3 =25;§]][Question Description = S2_Maths Content/Pedagogy_Q059]
2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30

D:is‘cussion as one of the teaching-learning methods in a mathematics classroom should be :
(I) minimised and more focus should be given on solving questions

(2) used to bring the real-life contexts in a mathematics classroom

(3) avoided as discussion has no place in a mathematics curricaulum

(4) wused as a way to bring humour in an otherwise boring mathematics class

niford @t wes e o et yonferdi & w9 4, =491 ¢

(1) a9 S =1feu i) 9941 o1 8 i T e 2ife fga e =fen
2) <fR e % dasl 1 o hen & S S % fore 3w = S = e
(3) asHE ST AT it Tifor TreE=E | ==t 1 #E e e €

(4) UH FAGT TS TOR Fall H FALSH H TH WA ©

[Question ID = 60][Question Description = S2_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET



1 Which of the following is a pair of modified stems of a plant ?
(1) Ginger, Turmeric

(2) Potato, Sweet Potato

(3) Carrot, Turnip

(4)

4) Turnip, Sweet Potato

frefafaa § 9 1 s 919 % Said o #1 FH § 7

(1) 37e%H, Beal

(2) o], WRTHS

(3) TSR, AT

(4) VIETTH, YRS

[Question ID = 61][Question Description = S2_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) Which fuels burn with a flame ?

(1) Those that are solid and have high calorific value.

(2) Those which are volatile or contain volatile substances.
(3) Those that are liquid and have high calorific value.
(4)

4 Those that contain carbon and hydrogen.

F-Y Fu ST fed Sed § 2

(1) d, 52 8 iR foen i | e 81
(2) 3, S argeie § = o areiie g €
(3) 4, siga € i foma sudfig uam aifus 21
(4) 3, o e v arEge B

[Question ID = 62][Question Description = S2_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3 Which of the following is a pair of viral diseases ?
(1) Tuberculosis, Measles
(2) Measles, Typhoid
(3) Polio, Hepatitis-A
(4) Measles, Cholera



Frfafaa § | 1A faum-3n =1 wk g €72

(1) &= I, G|y

(2) THY, TTFEES

(3) ifer, guerEfea-A
(4) @Y, &0

[Question ID = 63][Question Description = S2_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4 Match the name of the process in Column-I with its description in Column-IIL.

Column-I Column-II
(A) Ginning (i)  Arranging two sets of yarns together to make a fabric
(B) Spinning (i) Making a piece of fabric from a single yarn
(C) Knitting (iii) Separation of fibres from cotton seeds
(D) Weaving (iv) Making yarns from fibres
(1) (A, B)-(iv), (O)-), ©)-()
(2)  (A)-(iv), (B)-(D), (O)-(iD), (D)-(iii)
(3)  (A)(ii), (B)~(iv), (O)-(1), (D)-(i1)
(4)  (A)-(), (B)-(iii), (O)~(iv), (D)~(1)
WY-1 4 foU T yeh| i, WH-11 § &1 7 3951 =@ § gfed $ifau)
wWY-1 wWY-11
(A) @i (@) T S e i AT W HISl I
(B) hemS (i) TFH GE H HIS K Tk ZHS I
(C) & (iii) AT o STS H L9 ST FEA
(D) TorrE (iv) T H HE A
(1) (A)i), B)-iv), (©)-(), (D)-6)
@ (A)v), (B)-(), (©)-(ii), (D)-(ii)
(3)  (A)-(i), (B)-(v), (O)-(@), (D)-()
(4)  (A)-(i), (B)-(iid), (O)-(iv), (D)-()

[Question ID = 64][Question Description = S2_Science_Q064]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5)



A bar magnet is cut equally into three parts length wise and width wise to get nine equal pieces.
How will the pole strength of the new pieces compare with the pole strength of the original
magnet ?

(1) Each new piece will have the same pole strength as the original.

(2) The pole strength of each new piece will be one-ninth of the original.

(3) The pole strength of new pieces will depend on the region from where they were cut.
(4) The pole strength of each new piece will be one-third of the original.

T 9 Ja% l AaE H§ SE 9F 9, o) AR § 9Uen A gFel § Fe T U IHE Fi yarg g
e Ja i Y i 1 e °§ 1 82

(1) Y& U THS i Yd N Tal o 1 §d vl & q9H 2

(2) WU U THS I YT v g Faek HI Yd vl 1 UF = A6 qe

(3) U THS i Y e 39 & W F € =T 9 9 He M g

(4) WCIH U RS FHI YA AR g ok kT Yo Al 1 0 foew w0

[Question ID = 65][Question Description = S2_Science_Q065]

1. 1 [Option ID = 257]

2. 2 [Option ID = 258]

3. 3 [Option ID = 259]

4. 4 [Option ID = 260]

6)
Two glasses contain exactly the same volume of water and both are at a temperature of 35°C. Both
these glasses are emptied into a larger jar. What can you say about the temperature of water in jar
immediately after the transfer ? (Assume that the temperature of water in both the glasses remained
constant during the transfer.)
(1) TItwill be 70°C
(2) It will be somewhere between 35°C and 70°C
(3) Itwill be 27°C
(4) It will be 35°C

21 firermdl ¥ <1 1 T S § ST EFi 35°C & ar9eE W E | S el i s 92 w1 o |t
AT TR o GLd o1 279 SR H Siel o 199 o fq9a # 90 g 9d © : (9 wifene i semiaw &
R ST e § s =1 arome fer §)

(1) 70°C &
(2) 35°C 3R 70°C % <9 F&f 2
(3) 27°C @M
(4) 35°C Emm
[Question ID = 66][Question Description = S2_Science_Q066]

1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7)



Read the following paragraph and select the option which would correctly fill the blanks in the
given order.

Despite the diversity in crops in India, two broad cropping patterns can be identified. The crops
which are sown around June and harvested during the months of September and October are
called (i) crops. Two examples of these crops are _ (ii) and _ (iii) .

(1) Kharif, wheat, mustard
Rabi, soyabean, groundnut

= 2 2

(
(
(

)
) Kharif, maize, soyabean
) Rabi, paddy, maize

Freafafea sr=sg #1 ufed oin faw o g & fe ol #i ufd & o o fasen @1 59m #ifsw .
IITd o Wl o fafaur & arese, e &6 98 UiaH S 8 T & | S el 57 o S 81 S
¥ oft farer wd s1egeR & Wl & SR HRI 96 €, F (1) e Hecrl ¢ | 2 wEel & gl SER
i) R ()

(1) &, g, TeE

(2) &I, G, e

(3) @&®, Y221, "rAmE

(4) &, ¥M, Y24

1[Q;.1¢[acs)':it?or:] ||[D> =266:]][Question Description = S2_Science_Q067]

2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

8)
Read the following table :

January|February| March | April | May | June | July
Maximum Temperature 29.4°C | 30.5°C |31.5°C|31.5°C|30.7°C |29.1°C| 29°C
Minimum Temperature | 23.1°C | 23.6°C |24.9°C|26.1°C [26.2°C [ 25.3°C | 24.8°C

Precipitation/Rainfall (mm)| 15 12 27 56 81 83 84

Which of the following cities could be represented by above data ?
(1) Bikaner

(2) Shimla

(3) Kanyakumari

(4) New Delhi



frefafad arot afed -

TEEl | WEd | W | emer | W A | e

Aferera™ aTaHT 29.4°C | 30.5°C [31.5°C|31.5°C [30.7°C [29.1°C| 29°C

AT AT 23.1°C | 23.6°C [24.9°C|26.1°C [26.2°C | 25.3°C [ 24.8°C
warur, aut ( fad. ) 15 12 27 56 81 83 84

IR SAiere frefafas § 4 forg w8t & 8 ged €72

(1) reRrT
(2) femen

(3) wAFHR
(4) 8 feeed

[Question ID = 68][Question Description = S2_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Read the following statements and select the correct option :

Assertion (A) : Sodium is stored in water.

Reason (R) 3 Sodium reacts vigorously with oxygen.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)
(3) (A) is true but (R) is false.
(4)  (A)is false but (R) is true.

frefafaa weml 1 afee ofk wel fases =1 =97 Fifew
TfRed (A) :  Hifead &1 sierm 5@ § o e 2

HHT (R) : Hifezm dam & siedem O afafrn wwa g

(1) (A) 3 (R) S 6T € 3R (A) T (R) T A1 71

(2) (A) 3R (R) ST T € foheg (A) 1 (R) Tt =amen 7 &)

(3) (A) A T g (R) 378 B
(4) (A) 38 & fg (R) 99 ®1

[Question ID = 69][Question Description = S2_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10)




A block of wood is lying at rest on a table. Which of the following forces are acting on it ?

(1) Only gravitational force

(2) Gravitational force and Normal force

(3) Gravitational force, Normal force and Static friction
(4) Gravitational force, Normal force and Sliding friction

TSl I Teh T2l B R fermaeen § %) Fefafaa 4 FH 8 oa S8 WahE @ §2
(1) el TEERY e
(2) TEEERYY g T8 §HE g
(3) TTEETEN wel, T g IR wifae e
(4) TECIRET o, T Tt 2 fRger
[Question ID = 70][Question Description = S2_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]

3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11)
Read the following statements carefully and select the correct option :

Assertion (A) Carnivores like tigers have a much longer small intestine as compared to
herbivores.
Reason (R) : Meat is much more difficult to digest than cellulose.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.

frferfian sl &1 earges afen 3R T8 fasey = 99 i
R (A) . TIHTRINGET =1 qor | =14 SIE Hiareeal § Fel edl it eifd gl & |
T (R) : YeIrE =i STUaN ArE I T=E Al Hfed T
(1)  (A) 3 (R) S | § &R (A) FT (R) T8 =40 7
(2) (A) 3R (R) 3 w7 B fopg (A) #1 (R) W& =amen 748 B
(3) (A)TA T fFg (R) 316 B
(4) (A) 3R (R) EHT 379 £ |
1['Q:.|t[a;;itci>or:] |Il; =2Z3: ]][Question Description = S2_Science_Q071]
2. 2 [Option D - 282]

3. 3 [Option ID = 283]
4. 4 [Option ID = 284]



12) Identify the correct statement from among the following :
(1) Acids are bitter in taste.
(2) Acids have a pH value of less than 7.
(3) Acids turn red litmus blue.
(4) Acids give a reddish brown colour with turmeric.

Fr=fafad & @ & w9 1 Te=

(1) 7 @=E d %ed B & |

(2) @i % pHF A 79 f 7

(3) o7 o feewd i ien # <A €

(4) ST Toal o Wi U TEaH o0 T 36 # g
[Question ID = 72][Question Description = S2_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]

3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13)

Read the following paragraph and select the option that would correctly fill the blanks in the given
order.

(i) is a vital mineral required by our body to build strong bones and teeth. We are at an increased
risk of _(ii)  if we do not get enough of it, _ (iii) are a rich source of this mineral.

(I) Iron, night blindness, lentils

(2) Iron, scurvy, butter

(3) Calcium, osteoporosis, dairy products
(4) Magnesium, rickets, sugar '

Frefafeaa sr=ie #1 ufed oik feu o sm o faa woml 1 9fd 29 9 fasren gfe -

TR IR A Ty stfeerl sie i & oo & fag () oo stoaavas @fie R 1 B9 U @ 5Y Sifam
(i) T IR § =fe 7 7% gAiE " § g e g1 35 WS o uF Hgs W (i) §

(1) SR, T, 7

(2) ST, hal, HREA

(3) hfceam, afgfimm, Sad sa”

(4) TR, gEsl, =il

1[Q1u:[e;ti9n |||[)) =zgi|[Question Description = S2_Science_Q073]

2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14)



Which of the following conditions would increase the rate of evaporation of water from a
surface ?

(1) Increase in humidity

(2) Increase in wind speed
(3) Decrease in temperature
(4) Decrease in surface area

frafafes 8 9 -4 fufa gae 9 5@ % avF 1§ d gig el ?
(1) e gfe
(2) = fdH gfs
(3) AMIEE H !
(4) S & H HHI
1[.Q;.u[e;;it?or:] ||[[: ==;;31]][Question Description = S2_Science_Q074]
2. 2 [Option ID = 294]

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15 Identify the correct statements from the following :
(A) Rusting of iron is a chemical and irreversible change.

(B) Melting of ice is a chemical and reversible change.
(C) Breaking of a piece of glass into pieces is a physical and irreversible change.
(1) Only (A)
(2) (B)and (Q)
(3) (A)and (B)
(4)  (A)and (©)
Trerfeafaa o | w2 et i we=e ;
(A) TR o HRO Uk TEEAE TS AR IiE §
(B) & = TUeera1 Uk THMEf T SehHuig aied |
(C) 9% ZHS F1 F8 ZHel A dre T i Td srgeravia fed 2
(1) = (A)
() (B RO
(3) (A) ¥R (B)

4) (A) 3R (©)

[Question ID = 75][Question Description = S2_Science_Q075]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16)



A lemon when dropped into a large glass container containing ordinary tap water is found to sink
to its bottom. Which of the following actions can be helpful in making this lemon float ?

(A) Adding more water in the container.

(B) Adding salt to the water in the container.
(1) Only (A)

() Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)

T | W WH 5 % Ueh 9 o9 o U § 56 Ueh i ] STel T 79 98 e gd 7| Frefataa § 9
P-4t e/ ot gg 9 F T § gemm w2

(A) 9 H IR sifues S & g

(B) U o el H &9l STerl
(1) ad (A)

(2) e (B)

(3) (A) 3R (B) B

(4) ST (A) T E (B)

[Question ID = 76][Question Description = S2_Science_Q076]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

17)
Distance between a person standing infront of a plane mirror and her image is 13 m.
She moves 3 m closer to the mirror. The distance between her image and her now is :

(1) 20m
(2) 7m

(3) 10m
(4) 16 m

Goad €YU % TH UF TS & We 2 & I Ud S9F gfafea % &= w1 gl 13 m | 98 290 5 &R
3 m Y S § 1 39 vfafse ot suF de A gt em

(1) 20m

(2) 7m

(3) 10m

(4) 16 m

[Question ID = 77][Question Description = S2_Science_Q077]
1. 1 [Option ID = 305]

2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



8) Read the following statements and select the correct option :
Assertion (A) A copper wire is a good conductor of electricity.
Reason (R) : All good conductors of heat are good conductors of electricity.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

frefafaa weri #1 afed it wet fames @1 w97 FifST
ATUHT (A) :  FIW F1 U aR foaga =1 gae 2|

WU (R) : Fo % |eft gererss fere % g €
(1)  (A) 3R (R) I HA § 3R (A) FT (R) T =020 B |
(2)  (A) ¥ (R) ST FA € g (A) T (R) T =11 T8 &
(3) (A) A ¢ g (R) 16 B
(4) (A) 39 8 fhg (R) 94 81
1[.Q;.n[a;;itci)or:] ||[D> ==3€£;]][Question Description = S2_Science_Q078]
2 3 [option b 311
4. 4 [Option ID = 312]
19)

Read the following paragraph and identify the set of words which would correctly fill the blanks
in the given order.

The fusion of male gamete (i) and female gamete (ii) results in the formation of _(iii)  which
divides repeatedly to give rise to a ball of cells. The cells begin to develop into tissues and organs of
the body. This developing structure is called _ (iv) .

(1) Ovum, sperm, embryo, fetus

(2) Sperm, ovum, embryo, fetus
(3) Ovum, sperm, zygote, embryo
(4) Sperm, ovum, zygote, embryo

freafafes sr=sg =i ufed G fou T 5w § faa ol 1 ufd &g wsdl & 9 99=ag =1 et
TGHH (i) SCHR THE () A (i) S € S R T @ o e
1 U T T ST LA & | FRITIHIT IR F Sehl g 337l 1 fasrfad 2 gy st € | 21 fassfaa St
T (iv) B

(1)  SFT, YT, Yo, TR

(2) AT, ST, YU, TR

(3) TSI, AT, T, O

(4) YEHT, ST, THTS, YO

[Question ID = 79][Question Description = S2_Science_Q079]
1. 1 [Option ID = 313]



2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

200 Which of the following statements about biosphere reserves is NOT correct ?
(1) They have no fixed boundaries

(2) In these areas, no tourism is permitted
(3) These areas are aimed at conservation of biodiversity
(4) They are spread over a large area

Stavea fag & ded # frefafes § @ $9-91 97 98 8 €2
(1) 37 i ffea ofefa/mnd =& €
(2) = & e w srwfa € e
(3) 7 & 1 Igavd o fafaya %1 Hem g
4 AuHFgEAH FellgEel
1[Q:Jf;ti:n III; =381(7)i|[Question Description = S2_Science_Q080]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)

Which of the following would be the most appropriate strategy to introduce the concept of force in
class VI ?

(1) Define force as a quantity with both magnitude and direction
(2) Explain the relationship between force and acceleration

(3) Demonstrate that every action has equal and opposite reaction
(4) Engage students in various push and pull activities

Feql VI H a1 T ST TEd 0 F HEfeEd 3 9 0 T gaifes SugE a2
(1) = =l T q60 & ®9 H gRrfud sifse feed aftmm o fem S 2

(2) o TS @0 & 0 HeY il qHIAEY |

(3) Twied foF weler fopan &1 am wd Seet wfafsran &t 31

(4) Tornfel=i = fafvm weep e wi Sramremd d o dad |

1[Q1u:[e;tign |||[)) =3t;: ]][Question Description = S2_Science_Q081]

2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



‘Falsifiability is the ultimate criterion that separates science from Pseudo-science.” Which of the
following statements summarises the essence of the above statement ?

(1) Scientific theories are ultimate truths that cannot be proved wrong

(2) Science is a process as well as a product
(3)  Scientific theories can be tested for incorrectness
(4) Science does not promote false beliefs

“fomm I FH fogm 9 oo w3 & fore s sifag e 81"
frefafe § 9 #9-01 99 SR F99 % a9 F AL e ?

(1) a=fe Tagia 3 sifon v € 159 Terd wfed T8 fora i1 s |
(2) faam us ufsFan & Wy T 3R Ff

(3) dAsfer FEdl o1 STHw HI <" 1 S Tl & |

(4) Taam sroea favarmdi = deaifed == |

[Question ID = 82][Question Description = S2_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]
23)
Which is the most important purpose served by the laboratory activities in teaching of science ?
(1) They make the process of learning enjoyable for students
(2) They allow students to score high and reduce their anxiety
(3) They help the students in linking theoretical concepts with practical work
(4)

4)  They teach the students the value of maintaining discipline

T % foeror & weirmeen % Ry ®iA-F fa Ty Seevd i ufd Fd §
(1) & faenferii % for sifrm =1 wferan =01 eeerl a9 €1

(2) 3 faenfefi 3 39 i wra # oIR foa ) F #i ot 39 §)

(3) o fornfefal =, S dueri &t gHrTenen 1 W Sy T ° e Fd |
(4) o foenfel=i =1 STemER 99T T % TH w1 e e E )

[Question ID = 83][Question Description = S2_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]
24)
Which of the following statements about a scientific theory is correct ?
(1) Itis an informed and evidence-based guess about a possible solution to a given problem
(2) Itis a relatively stable explanation of a natural phenomenon
(3) Itis a statement that has been firmly established by repeated observations
(4)

4) Itisa preliminary idea which has the potential to become a law with accumulation of evidence



aeites fagidl & ded d Frafafead § 9 sF-m wu= wdt 872

(1) =% forddt <1 72 ween o H9ifad IO &1 U gaa19s T8 YHI S0 STHH | |
(2) @@ forelt wrepfaes aftee @i U sTdeTha Ul e € |

(3) U% U wA ¢ 58 YAUgT staciisal gra wfua femam a7

(4) T UF AR famm €, food gam geg 2 o, Frem 9 T e #

[Question ID = 84][Question Description = S2_Science_Q084]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

25)

A teacher wanted her students to investigate the effect of temperature on the time taken by given
amount of sugar to dissolve in given amount of water. She guided them to set up an experiment
based on varying this factor while keeping the other factors constant across situations. Which of
the following statements would be true about the experiment they set up for the
purpose ?

(1) Temperature to be selected as a controlled variable

2)  Quantity of sugar would be a dependent variable

3) Quantity of water would be a dependent variable

(
(
(

)
) Time taken by sugar to dissolve would be a dependent variable

e

e forferent erge faanfod= 4 st =61 < 7 90 § =i 6 € 8 9 g 9 a9EH & 59Te 61 999 oA
1 G HEFT =edl & | 3= fafr= ferfal o o e 1 feer @@ w1, ®F % s ) 9fEaaeie
Y, YR 1 L, Uk YA U2 379 A o foqu 3% Arieei= foan 1 29 3qeva =1 ofd &g 92 em fru g
v & geY ¥ frfafes O 9 S9-91 weF g g ?

(1) ue TEfEa sftadl/=r % &9 § qroam = =971

(2) = @ T ws R afed 2

(3) e I WA U T4 9iEd 2

(4) = %1 e o T fomn = wwa ue e giadt s

[Question ID = 85][Question Description = S2_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26) Tdentify the open-ended assessment item from among the following :
(1) Describe the structure of a human eye
(2) Explain the process of image formation in a human eye
(3) Describe any three ways in which the human eye resembles a camera
(4)  What would have happened if human eyes did not have binocular vision



fefafad 4 | ga-3id ke U8 9gdy

(1) HFE =3 i G i SATAT HITaC |

(2) wFa =3 gidfss fmio =t gtz St saren sifaa )

(3) Tl o wedi =t wveed fd A 73 i HE T | §
(4) = B Afg wEE 43 gfa i gt 78 g |

[Question ID = 86][Question Description = S2_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27)
A teacher in one of his initial classes on “Structure of Atom” draws it and compares with the solar

system which, the students are already familiar with. He compares massive nucleus with the sun
and electrons with the planets. Which pedagogic device is this teacher employing ?

(1) Virtual experiment

(2) Thought experiment
(3) Argument
(4) Analogy

e foneres A sroet wRfves swenell | CuEr] s S @ gor SR Hed 9 w1 foed famnedi ud 6 & el
oife aftfea &1 3= foumesm S i g @ o e & w@ & qom = e e
oo g 1 STEr TR E

(1)  STHE Y=

(2) =T w=m

(3) eh—fardeh

(4) geIEyd
[Question ID = 87][Question Description = S2_Science_Q087]
1. 1 [Option ID = 345]

2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]
28)
Which of the following is the most suitable indicator for assessing science students on their value of
honesty ?
(1) Collaborates enthusiastically in group activities despite the constraints
(2) Reports actual experimental data despite the unexpected results
(3) Responds actively to the questions asked by the teacher
(4)

4)  Efficiently handles the equipment and materials in the laboratory



o™ & fernfof=i § et SaMERl % 9o & 9tEH o, Frafafad § & waffas 3999 goe sHE-a1 e ?

(1)
(2)
(3)
(4)

STEH] & TS| WY & fhAmhardl H Sy Jedn & |
STYNTem gioHi % aesE SHe I iws femm
Torerer 11 9& 70 9| 1 WihFA | IR <Al

JARTENAT H SYSHI0 TS AT 2h! HEHIAd o GATT HEA |

[Question ID = 88][Question Description = S2_Science_Q088]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

29)

All of the following can be given as arguments in support of the need to ensure the historical
validity of science curriculum except :

(1)
(2)
(3)
(4)

Helpful in appreciating the evolving and dynamic nature of science.

Helpful in appreciating that science is unaffected by social factors.

Helpful in recognizing science as a human enterprise.

Helpful in recognising that science has benefited from contributions of different cultures.

o are=al & Ufaeifaes Sua 1 gifeaa @ & smavasa & ga¢q §, fFefafea § 9 94 a4 fog
S e & foEr

(1)
(2)
(3)
(4)

[E9]

o ot farermeiia 2IR fovier Ifa 1 S0 % H 98 8|
TSR Hehi § T STegar 8, 4% e i H g el |
o= Uk HHE SHIEA/SEE 8, 98 TedH U § HewE B |

o fafir= dwpfaal | enf=n 327 §, 98 98 | 9araa e |

[Question ID = 89][Question Description = S2_Science_Q089]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

30)

Which of the following is NOT a desirable teaching-learning practice to be followed by science
teachers in upper primary classes ?

(1)

(
(3)

L3
S

—
B

Focusing on building conceptual understanding before introducing technical terms and
definitions

Emphasising that scientific terms carry the same meaning as they do in everyday life
Citing examples from urban, rural as well as tribal contexts to explain a concept
Paying attention to students’ conceptual misunderstandings



I=a wafiyes wened § faae * el gr frafafea § 9 0 v aifsd faeor-sifonm yon @ €2
(1) et vg iR el wegd e § g Syt J9e & i s S w)

(2) 39 AW R 99 oA for AT el w1 S Sfem § oft |1EE o1 €

(3) fardlt dyera & wuEm & fau ved, amfor SR SHemdE |Wewl & ISRl o Seerd e |
(4) foenfelai =i dyert TemwEiEE ® s &)

[Question ID = 90][Question Description = S2_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P2_CTET

1)
Read the passage given below and answer the question that follow :
i The mind is always very defiant. If we are trying hard to concentrate on the Light,

for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

2.  Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness

awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

)

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

4, The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it ‘right
mindfulness’. It is a pure space of no-mind.

The mind is often treated as :

(1) atool

(2) amystery

(3) an enemy

(4) a companion

[Question ID = 151][Question Description = S2_English Content/Pedagogy_Q091]

1. 1 [Option ID = 601]
2. 2 [Option ID = 602]



3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

2)

Read the passage given below and answer the question that follow :

1.

0

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it “right
mindfulness’. It is a pure space of no-mind.

Read the following statements.

=

People think that meditation is all about concentration.
It creates solitude and pure awareness.

Both A and B are correct

Both A and B are incorrect

A 1is correct and B is incorrect

B is correct and A is incorrect

[Question ID = 152][Question Description = S2_English Content/Pedagogy_Q092]

1
2
3.
4

3)

. 1 [Option ID = 605]
. 2 [Option ID = 606]
3 [Option ID = 607]
. 4 [Option ID = 608]



Read the passage given below and answer the question that follow :

1.

0

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it “right
mindfulness’. It is a pure space of no-mind.

Which of the following statements is incorrect ?

(1)
(2)
(3)
(4)

Mindfulness is a pure space of no-mind.
Meditation is a mind activity.
Meditation means dropping everything.
The mind is always very defiant.

[Question ID = 153][Question Description = S2_English Content/Pedagogy_Q093]

1
2
3.
4. 4 [Option ID = 612]

. 1 [Option ID = 609]
. 2 [Option ID = 610]

3 [Option ID = 611]

4)



Read the passage given below and answer the question that follow :

1.

0

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it “right
mindfulness’. It is a pure space of no-mind.

Which part of the speech does the underlined word belong to ?

When concenftration ceases and one simply enjoys.

(1)
(2)
(3)
(4)

Verb
Adjective
Noun
Adverb

[Question ID = 154][Question Description = S2_English Content/Pedagogy_Q094]

1
2
3.
4. 4 [Option ID = 616]

. 1 [Option ID = 613]
. 2 [Option ID = 614]

3 [Option ID = 615]

5)



Read the passage given below and answer the question that follow :

1.

0

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it “right
mindfulness’. It is a pure space of no-mind.

Find the word from the passage which means the same as the word, ‘convergence’ :

(1)
(2)
(3)
(4)

opponent
resist
unification
scriptures

[Question ID = 155][Question Description = S2_English Content/Pedagogy_Q095]

1
2
3.
4. 4 [Option ID = 620]

. 1 [Option ID = 617]
. 2 [Option ID = 618]

3 [Option ID = 619]

6)



Read the passage given below and answer the question that follow :

1.

0

4

(1)
(2)
(3)
(4)

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it “right
mindfulness’. It is a pure space of no-mind.

a state of unadulterated awareness’. The word ‘unadulterated’ means

unsullied
discontinued
misjudged

unconscious

[Question ID = 156][Question Description = S2_English Content/Pedagogy_Q096]

1
2
3.
4. 4 [Option ID = 624]

. 1 [Option ID = 621]
. 2 [Option ID = 622]

3 [Option ID = 623]

7)



Read the passage given below and answer the question that follow :

1.

0

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it “right
mindfulness’. It is a pure space of no-mind.

How many stages does this jcmrney have ?

(1)
(2)
(3)
(4)

&
4
2
6

[Question ID = 157][Question Description = S2_English Content/Pedagogy_Q097]

1
2
3.
4. 4 [Option ID = 628]

. 1 [Option ID = 625]
. 2 [Option ID = 626]

3 [Option ID = 627]
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Read the passage given below and answer the question that follow :

1.

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it ‘right
mindfulness’. It is a pure space of no-mind.

The mind without focus is in a state.

(1)
(2)
(3)
(4)

fixed

mobile
fluctuating
concenfrated

[Question ID = 158][Question Description = S2_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

9)



Read the passage given below and answer the question that follow :

1.

0

The mind is always very defiant. If we are trying hard to concentrate on the Light,
for instance, it will resist revolt and drag us everywhere else but to the Light. And
this tussle continues every day for everyone. '

Understanding this trait of the human mind, sages and scriptures have suggested
that instead of trying to control it, one must put the mind completely aside. Stop
treating the mind as an opponent that needs to be won over; instead we need to use
it wherever and whenever it is required, as a friendly tool to assist us in our lives.
And at the same time, also realise and go beyond the mind, where pure awareness
awaits us. This journey follows three stages-concentration, meditation and
mindfulness.

Concentration is disciplining the mind, but meditation is going beyond the mind.
People think that meditation is all about concentrating on some object, like a source
of light, or inhaling-exhaling our breath. Meditation is neither of these. It is not a
mind activity. Meditation means dropping everything. In dropping, we become a
witness and then, when one becomes a witness, what remains is pure awareness.
This is a beautiful space of solitude.

The second stage, which is meditation, is not a struggle against the mind, but in a
way, it is a process to observe, understand and experience the mind, and in turn
have a glimpse of existence. When concentration ceases and one simply enjoys one’s
pure being, meditation arises. This state of pure being too is a process and one can
arrive at it just by being indifferent to one’s thoughts. Then there is a third state
which is called mindfulness, a state of unadulterated awareness. We continue to do
our daily chores but are always mindful, always aware. The Buddha calls it ‘right
mindfulness’. It is a pure space of no-mind.

Select a word which means the same as ‘solitude” (para 3) :

(1)
(2)
(3)
(4)

seclusion
desolation
retirement
desert

[Question ID = 159][Question Description = S2_English Content/Pedagogy_Q099]

1
2
3.
4. 4 [Option ID = 636]

. 1 [Option ID = 633]
. 2 [Option ID = 634]

3 [Option ID = 635]

Topic:- ENG_Q100-105_L1_P2_CTET



1 Read the poem given below and answer the question that follow :
When the road you're trudging seems all uphill,
When the funds are low and debts are high,
And you want to Smile but have to sigh.
When care is pressing you down a bit,
Rest, if you must, but don’t you quit.

Often the struggler has given up,

When he might capture the victor’s cup.

And he learned too late, when the night slipped down,
How close he was to the go!den Crown,

Success is failure turned inside out,

The silver tint of clouds of doubt,

And you never can tell how close you are,

[t may be near when it seems afar,

So stick to the fight when you're hardest hit,

It's when things seem worst that you mustn’t quit.

Identify the poetic device in ‘Success is failure turned inside out’ :
(1) Simile

(2) Metaphor

(3) Oxymoron

(4) Paradox

[Question ID = 160][Question Description = S2_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]



2) Read the poem given below and answer the question that follow :
When the road you're trudging seems all uphill,
When the funds are low and debts are high,
And you want to Smile but have to sigh.
When care is pressing you down a bit,
Rest, if you must, but don’t you quit.

Often the struggler has given up,

When he might capture the victor’s cup.

And he learned too late, when the night slipped down,
How close he was to the go!den Crown,

Success is failure turned inside out,

The silver tint of clouds of doubt,

And you never can tell how close you are,

[t may be near when it seems afar,

So stick to the fight when you're hardest hit,

It's when things seem worst that you mustn’t quit.

One must not quit ?

(1)  when the life takes turns
(2) when you have to sigh
(3) when one is close to win
(4) when things go worse

[Question ID = 161][Question Description = S2_English Content/Pedagogy_Q101]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]



3) Read the poem given below and answer the question that follow :
When the road you're trudging seems all uphill,
When the funds are low and debts are high,
And you want to Smile but have to sigh.
When care is pressing you down a bit,
Rest, if you must, but don’t you quit.

Often the struggler has given up,

When he might capture the victor’s cup.

And he learned too late, when the night slipped down,
How close he was to the golden Crown,

Success is failure turned inside out,

The silver tint of clouds of doubt,

And you never can tell how close you are,

[t may be near when it seems afar,

So stick to the fight when you're hardest hit,

[t's when things seem worst that you mustn’t quit.

Symbolic meaning of ‘victor’s cup’ is
(1) Failure

(2) Success

(3) Acknowledgement

(4) Celebration

[Question ID = 162][Question Description = S2_English Content/Pedagogy_Q102]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]



4 Read the poem given below and answer the question that follow :
When the road you're trudging seems all uphill,
When the funds are low and debts are high,
And you want to Smile but have to sigh.
When care is pressing you down a bit,
Rest, if you must, but don’t you quit.

Often the struggler has given up,

When he might capture the victor’s cup.

And he learned too late, when the night slipped down,
How close he was to the golden Crown,

Success is failure turned inside out,

The silver tint of clouds of doubt,

And you never can tell how close you are,

[t may be near when it seems afar,

So stick to the fight when you're hardest hit,

[t's when things seem worst that you mustn’t quit.

Find a word from the poem which means the same as “plodding’ :
(1) trudging

(2) pressing

(3) gliding

(4) queering

[Question ID = 163][Question Description = S2_English Content/Pedagogy_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]



®) Read the poem given below and answer the question that follow :
When the road you're trudging seems all uphill,
When the funds are low and debts are high,
And you want to Smile but have to sigh.
When care is pressing you down a bit,
Rest, if you must, but don’t you quit.

Often the struggler has given up,

When he might capture the victor’s cup.

And he learned too late, when the night slipped down,
How close he was to the go!den Crown,

Success is failure turned inside out,

The silver tint of clouds of doubt,

And you never can tell how close you are,

[t may be near when it seems afar,

So stick to the fight when you're hardest hit,

It's when things seem worst that you mustn’t quit.

Out of the following, which one is the suitable title for the poem ?
(1) Don’t quit

(2) Success and Failure

(3) Silver tint in clouds

(4) Life is queer

[Question ID = 164][Question Description = S2_English Content/Pedagogy_Q104]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]



) Read the poem given below and answer the question that follow :
When the road you're trudging seems all uphill,
When the funds are low and debts are high,
And you want to Smile but have to sigh.
When care is pressing you down a bit,
Rest, if you must, but don’t you quit.

Often the struggler has given up,

When he might capture the victor’s cup.

And he learned too late, when the night slipped down,
How close he was to the go!den Crown,

Success is failure turned inside out,

The silver tint of clouds of doubt,

And you never can tell how close you are,

[t may be near when it seems afar,

So stick to the fight when you're hardest hit,

It's when things seem worst that you mustn’t quit.

‘And he learned too late, when the night slipped down,
How close he was to the golden crown,” means

(1) sense of regret

(2) realisation

(3) sense of loss

(4) coming of age

[Question ID = 165][Question Description = S2_English Content/Pedagogy_Q105]

1
2
3.
4

. 1 [Option ID = 657]
. 2 [Option ID = 658]
3 [Option ID = 659]
. 4 [Option ID = 660]

Topic:- ENG_Q106-120_L1_P2_CTET

D Intensive reading is a skill of reading which refers to :

(1) reading for entertainment

(2) reading for editing

(3) reading for gaining the deeper understanding of the text
(4) reading for getting overall view of the text

[Question ID = 166][Question Description = S2_English Content/Pedagogy_Q106]

1
2
3.
4

. 1 [Option ID = 661]
. 2 [Option ID = 662]
3 [Option ID = 663]
. 4 [Option ID = 664]



2) Reading a text for detailed information is :
(1) Extensive reading
(2) Reading with fun
(3) Process reading
(4) Intensive reading

[Question ID = 167][Question Description = S2_English Content/Pedagogy_Q107]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

3) In the writing process drafting occurs after :
&P g
(1) Planning
(2) reviewing
(3) editing
(4) rewriting
[Question ID = 168][Question Description = S2_English Content/Pedagogy_Q108]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]
4) The steps to the writing process :
(1) end with publishing
(2) end with mind mapping
(3) end with brainstorming
(4) end with reviewing

[Question ID = 169][Question Description = S2_English Content/Pedagogy_Q109]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

®) Free writing can be described as writing :
(1) that is borrowed from any source
(2) that becomes poetry

(3) down everything that comes to the mind, without concerning for rules
(4) a detailed account in a journal

[Question ID = 170][Question Description = S2_English Content/Pedagogy_Q110]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

6)



A language teacher emphasis on memorising patterns of sentences instead of understanding
meaning. She uses :

(1) Grammar translation method
(2) Communicative Approach
(3) Direct Method

(4) Structural approach

[Question ID = 171][Question Description = S2_English Content/Pedagogy_Q111]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

7} The smallest meaningful unit of sound in a language is :
(1) Morpheme
(2) Semantics
(3) Phoneme
(4) Syntax
[Question ID = 172][Question Description = S2_English Content/Pedagogy_Q112]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]

3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

8) A teacher believes that humans learn language in the same way as other skills and abilities-
through experience. With which theorist would she agree ?

(1) Piaget
(2) Chomsky
(3) Skinner

(4)  Vygotsky

[Question ID = 173][Question Description = S2_English Content/Pedagogy_Q113]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

%) Talking to younger children using simple speech, high pitch and changes in intonation is
an example of :
(1) over generalisation
(2) linguistic speech
(3) babbling
(4) child directed speech

[Question ID = 174][Question Description = S2_English Content/Pedagogy_Q114]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

10)



is the learning disability that affects identification of speech sounds leading
to reading difficulty.
(I) Dysgraphia
(2) Aphasia
(3) Dyslexia
(4) Dyscalculia
[Question ID = 175][Question Description = S2_English Content/Pedagogy_Q115]

. 1 [Option ID = 697]
. 2 [Option ID = 698]

1
2
3. 3 [Option ID = 699]
4

. 4 [Option ID = 700]

) A student of class VI is making pronunciation errors. The teacher can help him :
(1) by calling his parents to complain
(2) by stopping the child correcting him as he commits mistakes
(3) after the child finishes, tell the correct pronunciation of the word
(4) by repeating the correct pronunciation
[Question ID = 176][Question Description = S2_English Content/Pedagogy_Q116]

. 1 [Option ID = 701]
. 2 [Option ID = 702]

1
2
3. 3 [Option ID = 703]
4

. 4 [Option ID = 704]

12)
Print rich environment is considered as beneficial for child’s language learning. one best
example for creating such environment is :

(1) providing printed textbooks to children.

(2) placing interesting stories, poems and child related informations on the classroom
and school walls.

(3) providing teachers with printed manuals, handbooks and guide books.

(4) providing opportunities to children to do creative work such as thumb printing,
screen printing and other printing activities.

[Question ID = 177][Question Description = S2_English Content/Pedagogy_Q117]

. 1 [Option ID = 705]
. 2 [Option ID = 706]

1
2
3. 3 [Option ID = 707]
4

. 4 [Option ID = 708]

13)

As per NIPUN Bharat Mission, Lakshayas (targets) i.e. the learning goals of FLN must be
achieved by all states. For reading with comprehension the Lakshayas in grade 1 are :

(1) read with meaning 45-60 words per minute
(2) reads simple words comprising of at least 2-3 alphabets
(3) read small sentences consisting of at least 4-5 simple words in an age appropriate

unknown text
(4) read with meaning at least 60 words per minute

[Question ID = 178][Question Description = S2_English Content/Pedagogy_Q118]

1
2
3.
4

. 1 [Option ID = 709]
. 2 [Option ID = 710]
3 [Option ID = 711]
. 4 [Option ID = 712]



4 Which reading technique is used for learning a subject for an exam ?
(1) Extensive reading

(2) Scanning
(3) Detailed reading
(4) Skimming

[Question ID = 179][Question Description = S2_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

15)
A teacher wants to see the progress of her students’” in their ability to write. Which tool
will be most reliable for her ?

(1) Interview

(2) Rubrics

(3) Portfolio

(4)  Self assessment

[Question ID = 180][Question Description = S2_English Content/Pedagogy_Q120]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

Topic:- HIN_Q121-128_L2_P2_CTET

1)

feu wu menyT wr saTUEe ufew iR Uw U 9vR & fow wew sugen fasew @t wEA
Hitag |

T2 & & foy Wit SR 1 S0 92 € Hecd ¢ | BRI STeR &Y TR a1 Jied s
ety % for =R Hecyul TS WeH Sl § | UH SRR W iR g 16 1 o @
ITH TV A W UH M UH ToEs g I Wl 81 T8 IR H o=y A ¥ wem
F | T9% o § gag ga=itaw gafd sHT @l §1 Sita 1w fagia € T srrsiie Hyfera
STER TS T A6 | I8 IR 1 HaT=d w1 H TEdl & | I8 9T &l yo=irad Ud Sfiaq &
gfd &TeTer gfteehion aFe W | i HeE wIA §1 BH AUl 3 % T BAM S W s
SAEYFehel T8 ¥ | Teresd o et oft a1 # o & Frmio foman < wepen €1

TV W SR Sfee o1 fagi[ -
(1)  BHeN STEsfEmE! 59 @A

(2) BHEN gE=TE @

(3) SiEAYEd Hfed IS &l
(4)  SirerTwd FT | g

[Question ID = 541][Question Description = S2_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 2161]
2. 2 [Option ID = 2162]
3. 3 [Option ID = 2163]
4. 4 [Option ID = 2164]



2)

feu u ey w sagde ufeu iR U U 9vR & fow wed sugad fased Rt wEH
HITTT |

TR-YW & & e Yiftesh S8R s 31971 Y2 &1 Hecd ¢ | 9Nl BN TeY JLAER 2l =fed S
(o 2 e O s e R e e B e o 0 o e | e o | e s e | e s
ITF TR A W UH M UF TeEs g o @Al 81 F8 R H o=y frera § wemn
FIAE | THE WA | Hag gEATAT wafa a1 et ¥ 1 S % s fesia € T st wafed
STER U0 &A1 =1fel | 98 YR =l Tai=a Saey § 1@l §| 9% ufish &1 gq=ifad g Sfeq &
gfd &TeTer gfteehion aATY W | Hi HeE Il 81 BH YAl 3T o T BAM oA i his
YRl TE ¥ | e 1 et off et & o @ Freio fifen <1 g €1

‘ereeR gfteshior § aed ® -

(1) =9 =1 gfenm

(2) SHI FH H §|EE$‘IUI

(3) EA T B i

(4) HhRIHEH §|3€$'IUI
[Question ID = 542][Question Description = S2_Hindi Content/Pedagogy_Q122]
1. 1 [Option ID = 2165]
2. 2 [Option ID = 2166]

3. 3 [Option ID = 2167]
4. 4 [Option ID = 2168]

3)

feu u menyr w sagds ufeu i U U 9vR & fow wed sugad fased @t wE
HIToTT |

TR-Y W& & ey Yifeesh S8 o1 S191 Y4 81 7o ¢ | SHRI HIER T6Y YLABR 2l =fey S
<t o fore =R Heeryul S We AT § | UH SRR | Wi qreeh THi w1 Seare ar
ITF TR A W UH M UF TeEs e S @l 81 T8 R H 7=y A § gemd
FIA | THF WA § Hig gE-itad wafa o el ¥ 1 Sie 1 s fagia € T st wafed
B T8V L1 =18 | 8 IR ol Hai=d SATE1 § a1 ¢ | I8 ik & 95-=ifad Ug Siad &
gfd &TeTer gfteehion aATY W | Hi HeE Il § 1 BH YAl 3T o T BAM S+ i s
YR T8 ¥ | e 1 et off s & o @ Frmio fifen <1 g €1

ey faio & fau -

(1) oy =t =K S T S R

(2) o1 foadm A% € W R g §
(3) T THI I TGV FHLA AT
(4) ey @ Y I HT ey

[Question ID = 543][Question Description = S2_Hindi Content/Pedagogy_Q123]
1. 1 [Option ID = 2169]
2. 2 [Option ID = 2170]
3. 3 [Option ID = 2171]



4. 4 [Option ID = 2172]

4)

feuw wu ey wr eaUEe ufew i Uw U vR & fow wew sugea fasew Rt wEA
Hitaw |

T2 Te o fore difees STer =1 7071 Yorsh 21 Hecdl €| BHN SR TS Yeaer g1 =ey s
ety o fere =m Teeryvl T WeH T €1 UH SRR | wfddee qree THi s Seure w ¢ |
3ITF TR I W UF i UF TeEE g a9 Wl 81 TS IR H 7=y FremEa ¥ wema
HIA | 39 o ¥ Gag gE=ITad ggia sHT @l ¥ 1 Siia 1wk fagia & T srrsiiem Hyfera
BN TZV HTAT A0 | I8 IR 1 HaT=a ey § TEd] 8| I8 9 &l yo=iraq ud Sfiaq &
gt e gfeshiol A0 W@ H 4T 988 &al €1 BH SATAl 379 o HUL BAM oA hl whis
A9l el €| Taresd o1 feRdt oft g # o @ Fwfor fopn s wehar §1

‘gereR | aeTd TH s B S -
(1) EFER EATE

(2) Hfew g g

(3) T Eme

(4) O T g e

[Question ID = 544][Question Description = S2_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 2173]
2. 2 [Option ID = 2174]
3. 3 [Option ID = 2175]
4. 4 [Option ID = 2176]

5)

feu wu weryT wr saUEe ufew 3 Uw U 9vR & fow wew sugaa fashew @t wEA
EiEl

- T o fory difeess SRR o1 791 J2Ish &1 Hecd 8| BHRI S8R A6y 9eamer g =ifen s
ety o fore =m TewEryyl T We a1 €1 UH SRR | i qree Wi w1 Seune g
ITF T I W UH M UF TeEs g I Wl 81 T8 IR H 7=y freREa ¥ werm
HLA | 39 o ¥ Gag gE=ITad ggid sHT @l §1 Siie 1w fagia & T srrsiiem Hyfera
BN TZU HTAT A0 | I8 IR Tl HaT=a e § TEdl 8| I8 9 &1 yo=iraq ud Sfiaq &
gt e el aATC TaH H of 988 &l €1 BH ATAl 379 h HUL B4 oA hl WIS
STErYTeRA el €| Weed o1 Tt oft a1y # o @ Fmio o s g €1

T Sl AT TE § -
(1) 984 @
(2)  SAIMETET B
(3) ey A
(4) EEER S
[Question ID = 545][Question Description = S2_Hindi Content/Pedagogy_Q125]

1. 1 [Option ID = 2177]
2. 2 [Option ID = 2178]



3. 3 [Option ID = 2179]
4. 4 [Option ID = 2180]

6)

feu wu menyT wr saUEe ufew i Uw U 9vR & fow wew sugaa fasew @t wEe
ity |

TR~ e o fa difeeds ST ol 791 9205 &1 Hecd & | AW STER A6y JeATeR g1 Sifed S
ety % for =R Hecyul TS WeH Sl § | UH SRR W iR g 16 1 o @
ITH TV A W UH M UH ToEs g I Wl 81 T8 IR H o=y A ¥ wem
F | T9% o § gag ga=itaw gafd sHT @l §1 Sita 1w fagia € T srrsiie Hyfera
STER TS T A6 | I8 IR 1 HaT=d w1 H TEdl & | I8 9T &l yo=irad Ud Sfiaq &
gfa &TeTer gfteehion aAe W | i Heg w51 BH AUl 3 % T BAM SH W s
SAEYTeRel T8 ¥ | ey 1 et oft a1 | o & Fmior fean < wepen €1

T A s Ay A -
1) ufe ey g g
(2) = e @ g
(3) NI HaH Bl §
(4) I Hee 7R B
[Question ID = 546][Question Description = S2_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 2181]
2. 2 [Option ID = 2182]

3. 3 [Option ID = 2183]
4. 4 [Option ID = 2184]

7)

feu wu ey wr sATUEe ufew 3R Uw U 9vR & fow wew sugan faskhed T wEA
ity |

TR-T & & o diftesh SR o 3101 92 &1 7o ¢ | g9 HATER AEY JLER &1 =fed S
ey % fore 9/ geryul S Y il § | UH TR | e e Wi i Seed ad g |
ITF T A W UH M UF qeEs g I Wl 81 T8 IR H o=y freRa ¥ wem
FI | 39 o § Hag gE=iTad vgid oA @l ¥1 Sita 1w fagia € T sirsiie Hyfera
STER TS AT A1l | I8 IR 1 HaT=d e H TEd] & | I8 9y &1 y9=irad Ud Sfiaq &
gfd &TeTer gfteehion aFe W | i Heg I 51 BH AUl 3 % T BAM SH W s
STEYeRel T8 ¥ | Teresy 1 et oft 3t § o & Fmfo foven s wepen €1

‘qerer w1 Hiu-fasse & -
(1) 9=+ B

(2) U+ HER

(3) U + ABK

(4) UT+ R

[Question ID = 547][Question Description = S2_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 2185]



2. 2 [Option ID = 2186]
3. 3 [Option ID = 2187]
4. 4 [Option ID = 2188]

8)

fau wu ey ®t sYde ufeu 3R 9w U 9vH & fow wed suged fasked @t wEHA
HiTeTg |

T2-YR & & forg Wit SR =1 S 92 € Hewl ¢ | BHRI STER A6y YL g1 Jied, s
3reyg % fore 9m geergol S Y il § | UE SRR | wfeered qrreh Wi i Seed dd g |
ITH T A W UH i UF qeEs g a4 Wl 81 F8 IR H o=y frema § wem
FIAE | THF WA § Hag gE-TA wafa o el ¥ 1 Sie % U fasi € T s wafea
STEN U2 &A1 A6l | 98 YRIX ol Fai=d ey § W@l ©| 98 Aiidsh &1 gq=itad g S
gfd g giehm AT TEq | off Heg wa §1 §H AT g % T TAN oA Wi HiE
STEYeRel T8 ¥ | ey 1 et off 3t # o 9 Fmfor fovan < gepen €1

ferdrorT - ferdrey 1 SeRAw & -

(1) =HIT 3ER

(2) Hfed sTeR

(3) R

(4) THERR
[Question ID = 548][Question Description = S2_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 2189]
2. 2 [Option ID = 2190]

3. 3 [Option ID = 2191]
4. 4 [Option ID = 2192]

Topic:- HIN_Q129-135_L2_P2_CTET

1)

feu u menyr w sagds ufeu i U U 9vR & fow wed sugad fased @t wE
HIToTT |

T 1921 H HETe e | g FHare R 2y - s (99 wel & W 9 (HRd §) ® A
SiteH & o Ty = A 1 Hew fed1 | @el S T S % U S F ®9 H gRY
g1 TR TMid % fou |rdt g uE A 911 9 39 A F @ wesa oW S 6 oy
UsHIfar o7 § sifirss WA it 1efsaawen o A%l 1 YEne q1eam 9rd o | S 3R
AN o THH FE 1 21— Has SR gTehd I F1 I8 Uk SIH FE T | HE H 59F 9 FH
I ST T |

¥ 1921 H HewHl e 7 Y gAsiiad ¢ % 9w fEa 2
(1) T
) @l S
(3) wH-FR
) =@ g



[Question ID = 549][Question Description = S2_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 2193]
2. 2 [Option ID = 2194]
3. 3 [Option ID = 2195]
4. 4 [Option ID = 2196]

2)

feu o meryT w saTUde ufew i Uw U vR & fow wew sugea fashew @t wEA
EqiE

T 1921 T HETe et A g1 -Har 2R g -9 s1m (59wl F M § geRd @) @ R d
SiteE a4 % felu = 9 o He fedn | @l Stidier Wl U % U S w9 § gRY
AT TR T o feau |rel 9% |5 e 911 39 AR Hd A Sesal 9w S o oy
UsHIfds 70 H siferesh wRd &1 Adeaae & A5 o1 YESne H1em oed 8 1 Sl iR
AT o THH FE i 21— g SR g T i G718 Tk S99 1 T | O H 396 9 &
hI% SN Tl |

AT T WU & U fesdn an

(1) =gshTEr
(2) =@
(3) @t
4)

[Question ID = 550][Question Description = S2_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 2197]
2. 2 [Option ID = 2198]
3. 3 [Option ID = 2199]
4. 4 [Option ID = 2200]

3)

feu wu ey ®t saYde ufeu 3R 9w U 9vH & fow wed suged fasked @t wEH
HiTeTg |

T 1921 H Tt Mt + g - har i g - o SE (58 @l F W § R §) w fwmd
Sfier o7 o fog = S 1 Hew fedn | @l SAdie s A o U S % w § gy
g1 HeTeH TiEh % forw @rel o " A 911 o 396 S{EifiE # A1 Whsd W i o for
SHIfaF o7 § aifiss wRd &1 Tei=aase o TIEce 1 TESe q1eam °rd o | Sl iR
AN % U %S &l 219 -Fars SIS gd &l 91 Uh 00 F14 8| 96 § 39 S
HTE SR T |

I 319 Saee o A3 | %1 HEE 9|
(1) =& 3
(2) =CE M
(3) el W
4) @R gE

[Question ID = 551][Question Description = S2_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 2201]
2. 2 [Option ID = 2202]



3. 3 [Option ID = 2203]
4. 4 [Option ID = 2204]

4)

feu wu menyT wr saUEe ufew i Uw U 9vR & fow wew sugaa fasew @t wEe
ity |

T 1921 H TETH Mt A g -FHars &1 2 - A sar (5 @R F T 8 R §) # R g
Site o o felt = 79 1 Hewl fag | @l sticier ol UM % U ST 6 w9 H gRY
AT HeTH M % fo et g% v A a1 9 g9 SiRniE Fr 7 wes o w6 fou
TSR o7 4 s1fiyeh WA i IdeaaT & YIE 1 FUEe q1eay 9rd o | SRl iR
AT o THH FE i 21— Fdls AR ST T i G718 Tk 99 & § | O H 39 o1g &
1S SET L |

T -l % I Shs= H § -

(1) &t 3R g%
(2) Hd IAE AR FEEE
(3) iR FnTEEt

(4) arETE R e s

[Question ID = 552][Question Description = S2_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 2205]
2. 2 [Option ID = 2206]
3. 3 [Option ID = 2207]
4. 4 [Option ID = 2208]

5)

feu u TenyT w sagds ufeu i U U 9vR & fow wed sugad fased @t wE
HIToTT |

T 1921 H TR e 3 g - 2R ey - A 9 (5 @l F M 8 ggRd §) = R g
ST o % fele =R 79 o Eew fad | |l Ao el §AH % U S F w9 H gRY
g1 TR TMid % fou |rdt g uE A 911 9 39 A F @ wesa oW S 6 oy
USHIfah o7 W sifiss WA it 1efsaawen & A5 1 YEvne q1ead 9rd o | S 3R
ARTET & GUH € i @Y-Fars 3R g gd 1 GE Uk SHIH €| G 396 WIS H
ohIg M Tl |

HEIeH e % T @l hae a9 € TR 91 98 ot 1)
(1) TEdar STereH

(2) TrSHIfTE TOHEITT

(3) IEEEN A=

(4) USTHIfaE 3T

[Question ID = 553][Question Description = S2_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 2209]
2. 2 [Option ID = 2210]
3. 3 [Option ID = 2211]
4. 4 [Option ID = 2212]



6)

fau wu Tenyr #t saYde ufeu 3R 9w U 9vH & fow wew sugad fased @t wEH
THITeTT |

T 1921 H TR et H g - 2R g - IAE s (5w F 8 R §) w R d
Sfier o7 o fog = S 1 Hew fagn ) @l SAdie Eead §AH o U S % w § gy
T HeTe id % fo @rel o9 "E A 411 o 39 SiEfiE # A1 Whsd W w9 & for
USHIfaR o7 § 3ifish wRd &1 Tefsaaen o [IEceM 1 TEve q1eam °rd o | Sl 3R
AN o FHH 8 i 21— Fhdls AR ST Ga i G718 Tk 99 1 & | TR H 396 &g F
1S ST T |

st § e v -
(1) SR

(2) AR

(3) =@M

(4) TR

[Question ID = 554][Question Description = S2_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 2213]
2. 2 [Option ID = 2214]
3. 3 [Option ID = 2215]
4. 4 [Option ID = 2216]

7)

feu o meryr *r saTgEe ufen i Uw WU 9vw & fow wew sugea fashew @t wEm
ShiTd |

T 1921 T HeTeH Mt g -har A gy - e Su (58 @l # 7 ¥ gerd §) w g
Sfier o7 o foy =R An w1 Hew e | |l A€o e O % U S % Y § gy
g1 TR Mid % fow |rdt g 5 A 911 9 39 A # A weEar W S 6 g
UsHIfaeh o7 § sifersh wRd &1 SAdeaae & [IEeM 1 YEe q1em Hed o | S oiR
AT o T FE i 21— Fag AR gehd a i G Uk A I9 F T | O H 39F 9 H
ohI3 JTRT 7E |

e o dfy-faeee § -
(1) TR+

(2) gI+3EH

(3) TiE+EM

(4) TH:+3EA

[Question ID = 555][Question Description = S2_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 2217]
2. 2 [Option ID = 2218]
3. 3 [Option ID = 2219]
4. 4 [Option ID = 2220]

Topic:- HIN_Q136-150_L2_P2_CTET



Vi =gfea sueh! el ¥ U gl <61 €, o9 39 Ugn & fou e yeq aedie o v i ?
(1) T&d 9
(2) THHT
(3) YE-Te
(4) fepfHT
[Question ID = 556][Question Description = S2_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 2221]
2. 2 [Option ID = 2222]

3. 3 [Option ID = 2223]
4. 4 [Option ID = 2224]

2 fr=fafed d @ uga & fou v sfaq s g2
(1) TG Faa Hehdl i fehIfen & §
(2) TREI-TH H FE T Y AT T2 §
(3) UIZT-TE T THA UG ¥
(4) UI3A-TE HI A1 Rl TG T TS @
[Question ID = 557][Question Description = S2_Hindi Content/Pedagogy_Q137]
1. 1 [Option ID = 2225]
2. 2 [Option ID = 2226]

3. 3 [Option ID = 2227]
4. 4[Option ID = 2228]

D e gd-vaq Tfafafy % fom T
(1) "ea-a% & qry el & gd 7 i sired
(2) UEE-%] H HHT FA
(3) WEA-T% I AG F & oy fremnedt it Tar w=
(4) e w=dl & 14 w1 AR WA & fere foenferRd = Gam

[Question ID = 558][Question Description = S2_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
4. 4 [Option ID = 2232]

Dy -orEA oEd wiwA % T = W foenfoEl o e wRar § 2
(1) HUTET =R
(2) yH-GfET =m
(3)  EEtEn =0
(4) YE-oTET UE EU ER
[Question ID = 559][Question Description = S2_Hindi Content/Pedagogy_Q139]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]

3. 3 [Option ID = 2235]
4. 4 [Option ID = 2236]



*) orE i F qd oned = % e frefafed § 9 - wEife send #2
(1) == HEf=E
(2) R
(3)  ARZH A
(4) HRA
[Question ID = 560][Question Description = S2_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 2237]
2. 2 [Option ID = 2238]

3. 3 [Option ID = 2239]
4. 4 [Option ID = 2240]

® e ¥ eafT T SR WeE T § -
(1) wfm
(2) e e
3) @™
(4) EERE-HEA
[Question ID = 561][Question Description = S2_Hindi Content/Pedagogy_Q141]
. 1 [Option ID = 2241]
. 2 [Option ID = 2242]

1
2
3. 3 [Option ID = 2243]
4. 4 [Option ID = 2244]

7)
e forfemeRt 78 9rdt € o6 ms § S 9 & e sAfSia S 6 e gt €1 d S I e
H Hel @ |

(4) gserE

[Question ID = 562][Question Description = S2_Hindi Content/Pedagogy_Q142]
1. 1 [Option ID = 2245]
2. 2 [Option ID = 2246]
3. 3 [Option ID = 2247]
4. 4 [Option ID = 2248]

®) gt fory * FerereRd T e’ 1 Tw foR Sgifoes e | wufda § -
(1) =FgeramEl fagr
(2) WesHaral fagr
(3) ihaETl sHaYA
(4) HarETeAs fag
[Question ID = 563][Question Description = S2_Hindi Content/Pedagogy_Q143]
. 1 [Option ID = 2249]
. 2 [Option ID = 2250]

1
2
3. 3 [Option ID = 2251]
4. 4 [Option ID = 2252]



?) it o= fafier el § yereyel €0 & et #1 o1 o) el S Hehal
(1) Tt g
(2) EgwIferg
(3) TTEHEHTH FET
(4) TSR
[Question ID = 564][Question Description = S2_Hindi Content/Pedagogy_Q144]
1. 1 [Option ID = 2253]
2. 2 [Option ID = 2254]

3. 3 [Option ID = 2255]
4. 4 [Option ID = 2256]

10 o diwe % o) o Fefafa § SE-9 e g § -

(1) gt =afaq gum g & oo Hied §

(2) U oafer STl S H T Hien Heha €

(3) Wk S A StrereRia § &1 vl dra e §

(4) U ot forelt oft s9 o s diva Wk § iR 7E o 99 1 ST STEH B §
1[Q111<[e;tit(?n |I|; =25;§3]][Question Description = S2_Hindi Content/Pedagogy_Q145]
2. 2 [Option ID = 2258]

3. 3 [Option ID = 2259]
4. 4 [Option ID = 2260]

11)

e, F&T 6 i Heglhte ol sifaes &1 39 uh 9 fees % w9 § forg wrifa 1 aem :8 2
(1) sfaeRiEl | 3o fau feriy famme™ =1 yeiy % & fog el

(2) H® 1Y Y Y ¥ EER HA1 S g5 il F WeTH ¥ 38 el YeH Sl |

(3) wrarat & 39 fav foemem ¥ wmiafa w0 & foro wE)

4) ool H FHa frege o foe 38 e ST

1[Q:J«E=;titgn |I|; =25;216]][Question Description = S2_Hindi Content/Pedagogy_Q146]

2. 2 [Option ID = 2262]

3. 3 [Option ID = 2263]
4. 4 [Option ID = 2264]

2 g S SHE 9 Yee 39 1M i faft ug w €)1 ey R yeA wrifa @ e i -
(1) fowga wea

(2) ERfET
(3) T - v
(4)  SRITHT

[Question ID = 567][Question Description = S2_Hindi Content/Pedagogy_Q147]
1. 1 [Option ID = 2265]
2. 2 [Option ID = 2266]
3. 3 [Option ID = 2267]
4. 4 [Option ID = 2268]



") gre-fa amp # fo Fretfafea § § -1 geifus sfaa @ -
(1) =99 g o e g 2
(2) THY gl T A9E Ee @
(3) ¥ e sgvEl | Hafum
(4) T S ehRd FA & fau §

[Question ID = 568][Question Description = S2_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 2269]
2. 2 [Option ID = 2270]
3. 3 [Option ID = 2271]
4. 4 [Option ID = 2272]

14)
Hifigss s =1 fasrrg wfass § amn Prem § T Heed TR & i st 71 e v s
fomrm % forn - et 1w # ST fo S R € -
(1) 133 & H UTe/Her! 1 g 3R foeres & | gwed 9ed
(2) e VT % AR F1 S HE
(3) WAl GRI SHfaMetl A HIA AR T
(4) = I YHE A aTelt FEEl 1 e frate nfafafy w1 arise Fe
1[Q:u[a;titgn |I|; =25';3§]][Question Description = S2_Hindi Content/Pedagogy_Q149]
2. 2 [Option ID = 2274]

3. 3 [Option ID = 2275]
4. 4 [Option ID = 2276]

15)

T ¥ T 1 Sk e 9 g e e, e Safaes w0 9 I e Tt € o el
TS AT G SHhT HEEdl FIAT & | AETiceh] Fi gie H 39 T8 1 9eE § -

(1) gAsfer

(2) SR HeArT

(3) STIRAT
(4) wrefaT

[Question ID = 570][Question Description = S2_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 2277]
2. 2 [Option ID = 2278]
3. 3 [Option ID = 2279]
4. 4 [Option ID = 2280]






